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Answer The Following Questions

Question One (20Marks )

1-How much money would be accumulated in 6 years if a person deposited $500 now
and the deposits increases by $50 per year for the next 6 years?.Assume that the
intrest rate (i) is 15% per year and then draw the cash-flow diagram. (8 Marks)

2- Assume that a company is producing and selling 5,000 units of its product per year,
and that the following data are associated with its operations:

Fixed costs $ 3,000, Variable costs are $ 0.5 per unit, and Selling price $ 1 per unit.

a) How much profit or loss is expected at this volume?

b) What effect will be on the profit if the fixed costs are reduced to$ 2,000.

¢- Assume that fixed costs remains at $ 3,000 and that the variable costs per unit
increased to$ 0.75. What volume would be necessary to make a profit of $ 1,000.

Question Two {25Marks)

1-What is Inventory ? Find out the Economic Order Quantity ' E.0.Q );and the Economic
Production Quantity (E.P.Q) . {5 Marks)

2-A company has purchased a numerically control machine for $150,000. It is estimated
that it will have a salvage value of 50,000 four years from new. What are must be, using
the declining-balance method of depreciation, so that the book value will be equal to
its salvage value at the end of its life?. Compare these figures with Straight line(S.L) and
sum-of - years digits methods? (10 Marks)

3-A manger is comparing three machines for purchase. Machine A has a purchase cost
of $12,000 and a variable cost per unit estimated at $ 5. Machine B has a purchase cost
of $16,000 and a variable cost per unit estimated at $ 3.Machine C has a purchase cost
of $20,000 and a variable cost per unit estimated at $2.5 . What is the cost equalization
quantities and what decision rule should be applied to the purchase? (10 Marks)
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Question Three { 25 Marks}

1-From the data below. determine the best forecasting method (technique) by using
the smallest mean absolute deviations for the last period, 2-Months Moving Average
and Exponentially Weighted Moving Average(EWMA) demand forecasting methods.

What is the forecast for month seven?{ Assume a= 0.2, and, Y,=30). (12 Marks)
Month 1 2 3 4 5 6
Demand 30 40 40 50 55 60

2- Use the graphical method of linear programming to solve the following problem:
Minimize Z= 4x; + 3x,,
Subject to

22X+ x, <10,
=0 ,

222 - 3% 6,
XzZ 0

X1+X226
and,

Question Four (30Marks)

1)-Name the several areas of PERT applications, and what is the purpose of
activities analysis? (5 Marks)

2)-The sequence and activity times for a project is given in the table below. The
completion time is 36 days after the project begins. Perform the following:-

a) Draw the PERT network, labeling activities, and compute ES,EF,LS, and LF.

b) Determine the critical path as well as the total slack and free slack.

c) What is the probability the project will be completed within 34 days?

d) What is the probability the-project will require more than 39 days?

Immediate | Expected | Optimistic | Most likely | Pessimistic
Activity predecessor time time time time
t. a m b
A - 8 7 8 9
B - 12 5 10 27
C - 7 5 7 9
D A 3 1 3 5
E A 12 5 13 15
F A 5 4 4.5 8 o
G C F 4 3 3.75 6 . 1. . S
H C.F 2 1 2 3
| B,D 7 4 6 14
J B 9 6 8.5 14
K E,G,l 6 4 6 8
L H,K 10 3 10.5 15
M JL 0 0 0 0
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